St Bartholomew’s MAT Calculation Policy et

Progression in Calculal’ions

Addition

Year | - Addition

L“}jers of VOCOBUlOFEJ Basic to subJecl’ sPeci[;ic (Beck's Tiers):
- +, o,dd, more, Plus, make, sum, folal, ollogefher, score double, near double one more, lwo more... ken more how many more to make...” how many more is... than...? how much more is...?
e Instruchional vocobularg:

stork From, skart WiHl, Sthl’ Ql', lOOl( Gt, POiI’ll’ tO, Sl’IOW me

Beck's Tiers of Vocabularﬂ

Ob\jechve and Concrele Piclorial Abstrack
Stro,tegies

Counl’ing objects. Parhhoning and

recombining sels usins Proclical 3

aPParotus. ‘ 5 < part $ 4_ + 3 = 7
hol sl

Understand thot the number gels | B

bigger. part §
7] | Use cubes bo add buo 0=6+4

Pictorial recurding of Procl’icul
experiences. numbers kogel’her as a ’ Use Picl’ures to add
grOUP orin a bar' /. . . ‘ ‘ l’WO numbers kogel’her
Modelling of commulalive layout. ‘. w 5 L | as @ group or in a bar.
(3+6 :q, 6+3 :q) 3 Balls 2 Balls
Counting on prom the larger
diagram as shown above
8.1-9 8+1=9 fo move inlo the abstrach.
+1=
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9 B

l+1=2 I-1=1
double |is2  halfof2is |

5 @l

1+2=4 4-2=2
double2is4  halfof 4is 2

afasi::

e

Recognihon of

quanhhes. Find Hme

[arger number FiI’SL

47 +6)= [10+7]

10

LOOI( FOI‘ number bonds (OS OIJOVC)

5 + 8 is re-ordered to 8 + 5.
Count on from 8.

There[:ore, 8 + 5 = |3
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Year 2 - Addilion

LOHCI‘S GF VGCObUlGr‘H

4 pecle
S wweanbe

i

3='i

¥

T
B s

BeCl(‘S Tiers OF VOCQbulQFH

Basic to subjecl specil;ic (Beck's Tiers):

+, Q(LI('.I, addihon, more, Plus mal(e, sum, koko,l auogekher score double, near double one more, kWO more... ken more... one hundred more hOW mOﬂH more kO mal(e...? |’10W manH more is...

H}an...? hOW much more lS...?

Ins}ruchonul VOCOBUIGFHI

kell me, descrlbe, name, PiCl( ouk, diSCUSS, ta“( abouk explain, expla'm HOUF mekhod, explain hOW HOU gok HOUF answer, giVC an example OF ShOW |’10W HOU...

Ob\jechve and Concrele Piclorial Abstract
Skro,tegies
EEEEERENEEEE . 2 T+ b=l
| 8 E
Key skills of Imowing number
bonds fo 10 and wihin 20. ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ 20 ! 20 IF I am al seven, how many more
Regrouping to make bonds to 10. 15 | 11 | C],O I need kO mo|<e |OP

DeveloP lmowledge of Fuck Families,
eq.2.5.7.

Au answers lO be recorded ina
number senlence FO[[OW'II‘IS QI‘IH

inl:ormol recording_

Underslond Hw. eﬂ:ed OF adding a

zero.

Thls shows regrouping of q + 3 ko become
10+2

This shows the
Fack FamilH of
L, A= ! |O,7anc13
I IC:=?+3 l
LI
10=3+7

Use Pictoria[ rePresenl’ahons. Regroup or Parl’il’ion Hne sma“er number

to make 0.

10

Fact families.
9+1=10
1+9=10

100 = 80 +20
100 =20 + 80

7+8=15
5=8+7

IF I Odd ero |50 O,nH number, Hme

number sfo,gs HIC same.

6+0=16
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Add a 2 digii number and unils.
Add a 2 digii number and fens.

Add twe 2 digil' numbers.

T (0]
OO0 0 | mEEE
s Ennnn]

OOOmITT EEEEm

Build the 2

digik numbers
using base 10.

Pupi[s ko
record
H‘teir own

'shcks and

dots’

34 +23 =57
30 +20 =50
4+3=7

34 + 19 is the same
as 33 + 20.

Summer term of Year 2, if Pupi[s are

secure — bridge 100.
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Year 3 - Addition

LOHCFS OF VOCQbUlQFH

1
e e
AT

BCCI(‘S Tiers OF VOCQbulOI’H

Basic to sub‘ject specific (Beck's Tiers):

+, Gdd, Qddihoﬂ, more, P[US, mo,ke, sum, kOth, 0”086”}&", score, double, near double, one more, I'WO more... fen more... one hundred more, |'10W mOHH more tO mo,ke...? hOW mo,n5 more is...

than...? how much more is...?

Instruchonul vocabularg:

CXP[GLD HOUI" meH’»od, GXP[QLH |'10W HOU got HOUY‘ answer, give an example OF ShOW |'10W HOU... Sl"LOW HOUI" work‘mg

Ob\jechve and Concrele Piclorial Abstrack
Skro,tegies
Introduce column addition without AFfer Prachca”ﬁ using the base 10 and/or and Place value counkers, children can use bar models
) H T 0 v 6 2 5
crossing the boundarg | | 232 fo represenf the addition.
®® 90 00 T 148
2% (044) © | +114 | 36G+8)
453 (5043) ® © :. *
7700+ ® Sl 6 0 (20 + 40)
+ 6 0 0 (600+0)
Know the complements ko 100. (For | Make both numbers on a place value grid (nok crossing boundary) 301 240 —6 7 3
example 60 +40 = 100 AND 63 +
37 =100). + = Expanded method pirst
| ‘ @ | 146 i f
0000 . _
(1
:3:‘ Then, use compacl method without crossing
Introduce column addition with a b oun d Or';j
crossing the baundarg Understand that the lotal is the result when adding the Parfs togekher. Then. compack with crossing o boundary fo
Add up the units and exchange 10 ones/for one 10 (crossin ' ) P 3 !
P 3 f J carry dtgﬁs
boundarﬂ) 'p
® | o 146
© | 120 | 132 | 260 536

OO0 000 + 9527

+_ 85
6 2 |
|
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AC[C[ UP Hua res|: OF |:he columns, exchanging H’te |O counkers From
one column FOF H‘LE nexk Place value column unhl EV(’.FH column hClS

been added,

This can a[so be done W'LH'I BQSE |O kO helP chilclren cleorlﬂ see H’;ak
|O ones eclual | han and IO |:ens equal |00
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Year & — Addition

LOHGFS OF VOCQbUlQFH

-
i

BCCI(.S Tiers GF VOCObUlOFH

Basic to subJecl specific (Beck's Tiers):

Gdd, addihon, more, P[us, increase, sum, kOth, a”oge“’»er score double, near doub[e hOW mo,ng more tO mal(e...?

Insl’ruchonal vocobulurg:

calculake, work ouk, solve, inveshgo,fe, queshon, answer, check

Ob\jechve and
Stro,tegies

Concrete

Pictorial

Abstract

Begin lo use column addilion
withoul crossing the baumiara
using A disil numbers.

Begin lo use column addilion with
crossing the boundarg with & diﬂil

numbers.

Use column addition in the

boyk lud

of es lo i

decimals.

123243114
HH|T]|O

L 00

&

Crossing
a
boundary.

AF}GF PrGChCG“H using Hle Place value couniers and/or bose ken, children can

use bar models to represenk the addition.

6509 + 2170 =

1890 + 362 =

£5.80 £10.20

Column oddl’ion:

5

<+
— N foo w
— |1 o~
oo [N o~

Once con[;idenf wiHm Hua method, analghcol opporfunihes
should be oFFered‘

| Caleulation | ____Eror ] Correctsolution|
1482

+ 6 7 2
8 2 0 2

Find the missing numbers in these calculations.

4 3
+ 2 6

[]2 1
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Year 5

Year 6

LOHGFS OF VOCGbU[GFH

-

[N
it

Beck's Tlers OF VOCO,[)U[O,FI:J

Basic lo subJecl’ specific (Beck’s Tiers):
add, addihon, more, Plus, increase sum, tohl, a”ogeﬂwr score double, near double how

anH more kO mo,ke...?

Instruchonal vocubularg:

Put, Plo,ce arrange, reo,rro,nge cho,nge, change over SPlik separate

Basic to subJecl’ specific (Beck's Tiers):
o,dd, addihon, more, Plu,s, increase sum, fofo,l, a”ogeﬂmer score double, near double how many

mare kO make...?

Instructional vocabulorg:
Puk Plo,ce arrange, rearrange cho,nge, change over adJusfing, adJ‘usk splik sepo,rate, carry on,
conhnue, repeaf what comes next? predict describe the paﬂern, describe the ru,le, F’md, F‘Lnd all,

F’md dLFFerenk aneshgake




Subtrachon
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Year | - Sub[rachon

LaHers oF vocabularﬂ

Beck's Tlers OF VOCG[)U[O,FH

Basic to subjecl specil;ic (Beck's Tiers):
take away, distance bekween, leFerence bekween, less than. How many more? How much

greater? HOW manH Fewer?

hUW much more iS...P - subtrack fake (OWOH), minus, leave, hOW manH are leFWleFt OVCI’\p

hOW anH hOVC gone? one less, kWO less, ken lCSS... hOW mo,nH Fewer is... Hlan? hOW

much ICSS iS...? diFFerence l)ekween, = CqUQlS, sign, is H}e same as

Insl’rucl’ional VOCGBUIOFHZ skark From, slarl WiHl, skork Gk IOOI( Gk POinl’, l'O ShOW me

O[)J'echve and
Skrategles

Concrete

Pictorial

Abstrack
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Know that the number gels smaller
because objccls have been

rcmaved [;rom ”18 Se}.

Practical del of subbrachi
Concepl of lake away and
counhng back.

Concepl OF Find Hne difference as

caunhnﬂ on.

Use Phﬂsical obJecks, caunhars, cubes etc l’o ShGW hOW objecks can be I'OI(EH GWOH.

000
O

00 b of

MCII(Z H\E larger number in HOUI‘ subkrachon. MOVE H’;e beods olong Ejour beocl

6-—2=k

siring as you count backwards in ones.

“etsssssese
R

13-4

USE counters and move H‘Lem OWO,H From H’le grouP as HOU lfOke Hwem OWGH

counhng backwards as you go.

Ono
Use dienes to sublract larger Og numbers. Eg. 37 — 15,
37-18 o

Compare amounts and obJ'ecks fo Find the diFFerence.

Use cubes to build towers or make bars to Find the

diFFerence

"—
T——

CFGSS OU} drawn ObJEClS kO ShOW whak hGS been laken QWQH.

Caunk bOCI( an a number line or number l’l"QCl(

? 10 11 12 13 14 15

Starf Ot Hne bigger number o,ncl CGUI’tt I)OCI( H\e smaller number showing H’te

JUmPS on H\e number line.

Use basic bar models with items to Find the diFFerence

5 Pencils

rdrdtd

3 Erasers P

18 -3=15

8-2=6

PU[’ |3 in HOUI" heod, count bQCI( lf Whol
number are HOU OP USC HOUF Fingers l’O

help‘

Tom has 5 Pencils. Emma has
PencilsA How many more Pencils

dOCS Tom hGVZ?
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Year 2 - Sublraction

LOBCI‘S GF VOCObUlGFH

Beck‘s Tiers OF VOCQbulQFH

Basic lo subject specil;ic (Beck's Tiers):

SUH’FQC&, subfrachon, fake (QWOH), minus leave, hOW manﬂ are le[;f/le[;f over? one ICSS, kWO less... ken less... one hundred less hOW mOnH FCWGI" is... H}an...? hOW much less 15...?

dlﬂ;erence bekween hal[;, halve = equals, sign, is H’Ie same as, [ens boundarﬂ

dlﬂ;erence, Parhhon, rearrange, inverse, Place value

Instruchonal VOCG[)UIQI‘HI

kell me, describe, name, PiCl( oul’, discuss, tO”( abouk explain, expla’m HOUI‘ mekhod, expla’m hOW HOU gol’ HOUF answer, give an example OF ShUW hOW HOU...

Ob\jechve and Concrele Piclorial Abstrack
Skro,tegies
. - -10 -10 57 — 23 = 34 (children could draw
D penny I_mder Y * foke 0 0 0 0 0 O 0 0 0 -1 -1 own ‘shicks and dots to suppork)
QWGH ond Fll‘ld lhe dlﬂ:erence as 0 0 ‘\4 - .\( q7 47 57

slrolegies for subbraclion.

Undersland H;e e|:|:eck OI: zero in

subbraclion.

Know thal sublraclion is the

inverse of addilion

[ J
00008 000
USC |,'en FerCS |fO SUblfI“OCL Eg 20 - [1-

Link to addition.

| 10=6+4

"4 10-6=4
10K

Use palterns to find answers to sublractions
0+4=

10— 4=

20 + k=

20-4=

Comparison Bar Models

Lisa is 13 years old. Her sister is 22 years old.
Find the difference in age between them.

13 ?
] —
sister
22

Parhhaning the second number stmk%

76 — 43 =
76 — 40 =36
36-3=33

When it is a sublraction colculahon, underline

the second number — this is the onlg number

that can be Parhhoned.
13— 46 =
73-40=33
33-6=271

What is the difference
between 18 and 26?
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Incrcasing knawledge of Fack

Families.

2 digii sublract 2 digil.

Build with base 10. Remove the base IO, or cross them
oub i[; dolng it Pictoriallﬂ.

m=sumnmnna] faunr-caua]
oy § 9599 o S8 S8 T s e s
T D

Think:
| howve 3 tens and
Y ones. [ want o fake
awty 9 ones,

Tens Ones

= J=J= ¥ |

Find the diﬂgerence
Hannah has 23 so,ndwiches, Helen has

[5 sandwiches. Find the diFFerence

bekween H‘»e number OF sandwlches.
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Year 3 - Sublraction

Lagers of vocabularﬂ

Beck's Tiers of
Vocabularﬂ

Basic to subject specific (Beck's Tiers):

subtro,ck, subtruchcn, kal(e (GWGH), minus, leave, hOW manH are leFt/[eFk OVCF? one [ess, kWO lGSS... ken ICSS... one hundred lGSS hOW anH FCWCF is... Hw,n? hOW much less iS...? leFerence belween

hal[:, halve = equals, slgn, is the same as, fens boundarﬂ, hundreds boundarﬂ, excho,nge, carried digits

Instrucl’ionul vocabulurg:

CXP[GLH HOUF meH’»od, GXP[QLH |'10W HOU got HOUF answer, give an example OF ShOW |'10W HOU... Sl"LOW HOUF work'mg

OBJechve ancl
Sfral’eg ies

Concreke

Pickorial

Abstrack

Column mel’hod

winut exchonge.

Column mel’hod

wil’h exchonge.

HTU — HTU

The CO"CZP* OF zero

asa PIQCC holcler

eq 406 has 6
units/ones ond 40
I'CIIS which is H’IC

same as FOUF

hundred.

Tens Ones

USC Base |O kO mol(e H’le bigger number l'hen koke Hle smaller

/I/ number QWOH.

L] ‘
|

|

USC Base |O |,’o skarf W'IH'I beFore moving on |50 P[OCZ VO[UC counl’ers. Sl’ark WiH’I one exchange beFOFE

moving onlo sublractions with 2 exchanges.

Make H'me larger number WiHl H\Z Place va|.ue counkers

H Shrk WIH'\ H’le anes, can I koke
| @ { Calculations ,

0W05 8 From 4— eQSilH? I need

. . . . 234 to exchanﬂe one of my tens for

- 88 fen ones.

Calculations
176 - 64 =
176

64
112

368

124

H T O
3.5 8 Column
- 2 2 6 subl’ro,cl'ion;
no exchange
H T O
2lala Column
_1212l6 subkrochon;

wiH'1 exchange
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| | . Caleulations  Now I can sublrack my ones.
000 Zgg Now look ok the } I
Pl ow look af the lens, can
: : ::: take away 8 lens easilg? I
i need o exchange one

hundred for fen tens.

NOW I can kake CLWQH elght DCHS

@| | &
i Caloulations  gnd complete my sublraction
ee00 | ¢
00ee0e @ -8
® Calculati
0000 234
'Y ) - 88
®
0000 | 'I#
o0 - 88
i 146

Show children how the concrete method links to the written method alongside your worldng. Cross

ouf H'me numbers when exchanging and Sl’\OW where we wrike our new amounf.
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Year & - Sublraclion

LOHCFS OF VCCQbUlQFH
Be;k's Tiers OF
Vocabularg

Basic ko subJect sPecific (Beck's Tiers):

Insl’ruchonal VOCQI.)U[GFHI

the same as, fens boundarg, hundreds bcundarg, inverse, exchange, carried dlgits

calculate, work ouk solve, inveshgate, queshon, answer, check

SUHFGCk, subtruchon, fal(e (GWGH), minus, decrease, lCQVB, hOW mcmg are leFk/leFk OVCF? diFFerence bel’ween, thF, hqlve, hOW mcmg more/[:ewer is... H’LOJI? I‘IOW much more/less iS...? equals, sign, is

Ob‘jechve
and
Sh‘akegies

COHCFC%C

Piclorial

Abstract

ThiS will leacl tO an underslanding OF

sublrachng ODH number including clecimols.

Column meH\od

wiuwut exchonge.

Column meH\od

wth exchonge.

4 digit sublrack &
digik

APPIH meH'wd in
Hle coniext OF
measures, including

decimuls.

CO nhnue H;e

conce| Of zero as
pk of

a Place halder 6.3.
5026 has 6

uni}s/ones and 50
hundreds which is

l’he same as FWC

HIO usand.

Use the place value chart to work out 5,624 — 2,301

USC PlOCZ value chark and counl’ers tO build numbers and cross OU& tO subkracl’ H'\e smaHer number.

0 00
e &0

0 00 | OO

0
QO
Q0

5,624 - 2,301 =

Bor modeuing.

3682

1245

Compqcf me[’hodz no exchange

Complete the calculation.

Th H T O

5 6 2 4

-2 3 01
WiH} exchange:

Thh H T O

71312 5

-2 4 0 6
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Look ot the accurale exchangmg with

more H‘th one zero:

6003
- 2786
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Year 5

Year 6

LOHGFS OF VOCGbU[GFH

-

[N
it

Beck's Tlers OF VOCO,[)U[O,FI:J

Basic to subJecl’ specific (Beck’s Tiers):

subbract, sublraction, lake (awo,H), minus, leave, how many are leFVleFk over? ten less...
one hundred less how many pewer is... than...? how much less is...? diFFerence belween
half, halve = equals, sign, is the same as lens boundarﬂ, hundreds boundarg, inverse,

units boundar\Lj, tenths boundarg, exchange, carried digifs

Instruchanol VOCQI)U[OFBZ

Put, PlQCC, o,rro,nge, rearro,nge change, change over, ad\jushng, adjusk, SP[il’, SCPQFQ&Q

Basic o subJecl’ specific (Beck’s Tiers):

sublract, sublraclion, lake (o,wo,H), minus, decrease leave, how many are leFWleFf over?
diFFerence belween ho,lF, halve how many more/Fewer is... than...” how much more/less is...?
equo,ls, sign, is the same as lens boundarg, hundreds boundarﬂ, units boundarﬂ, tenths

boundarg, inverse

Instrucltional vocabularg:
puf, place arrange, rearrange cho,nge, change over quusfing, adJust split, separo,te, carry on,
conhnue, repeak what comes next? Predick describe the po,Hern, describe the rule, F‘md, F‘md

o,ll, F‘md diFFerent, inveshgate




Mulhplicahcn
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Yeor | - Muuiplicahon

LaHers oF vocabularlj

=1 b
BT
ST

Thar2
N SR 1Y

Wl
Bt ncosund s

BCCI(,S Tlers OF VOCQbUlGFH

Basic to subjecl specil;ic (Beck's Tiers):
count in ones, bwos... lens...

GFFQH, groups OF, equal 9I"OUPS, Odd, even

Instruclional vocabularg:

carry on, conkinue repeak whal comes next?

Flnd, chocse, ccueck use, mal(e, build

keu me, clescrlbe, P'Lcl( out, kalk abouk, explain, show me,

read, write, record

Ob\jechve and
Skro,tegies

Concrele Piclorial

Abstract

To understand the concept of
doubling,

Counl'ing in sl’eps of 25, 5s, 10s.

To understand that mu“iplicuhon

is repeuted addition.

Use Prachcal achvihes ko

SI’IOW hOW |fO double a DI'(JW Pickures tO Sl’IOW hOW |50 double a numbeh

/ number.

double 4is & D

4x1=8

Double 4 is 8

16
7/ \
10 6
IxZ I x2

20 12

Parlition a number and then
double each Park be[;ore
recombining it back koge”‘»er‘
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Coun|: in muuiples SUPPOF&QC[ l)ﬂ concreke OIDJCCI'S

in equal 9FOUPS.

Use different
objects to add
equal groups.

Bt

Use a number line or Picl’ures to conkinue support in counhng in

mulhples.

A

N N TN NN,

=} 5 ¥ 15 0 15 10

2, 80 W, & w
% I\ é’ ﬁ rf N

There are 3 plates. Each plate has 2 star biscuits on. How many biscuits are there?

2 add 2 add 2 equals 6

5+5+5=15

Count in mu“’ip[es of o number

CthUCJ,.

Wrile sequences with mulhples of

numbers.
246,810
510, 15,20, 25, 30

Wriie addihon seniences lo describe

ol)jecls omi Piclures.

2+42+2+2+2=10
2x5=10

2 multiplied by 5

5 pairs

5 hops of 2
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To use arrays to show that

muuiplicahon is commulalive.

Creal’e arraHs uslng counl’ers/ cubes tO ShOW

mu”’ip[icahon senlences.

Draw arrays in diFFerenk rolations to
[;incl commulalive mulhplicahon 0000 +x1-8
senlences. ocoo

Trd=8

0@ 1x4-%
00
00
(1]

dxP=l

Linl( OI"I"OHS kO area OF reckangles.

Use an array bo write
mulhplicahon senlences and

reinforce repeakecl addition.

00000
00000
00000

5+5+5=15
3+3+3+3+3=15

5x3=15
3x5=15
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Year 2 - Mulhplicohon

LOBCI‘S GF vocabularg

y 2 1
1 tMeaperle
weaELLy k
Tund
s mis

Tue
B sl

Beck‘s Tiers OF VOCQbulQFH

Basic to subjecl specil;ic (Beck's Tiers):

lots Of, groups op X, hmes, mulhplﬂ, mulhphed bg mulhple of once, lwice, three limes... ten limes... limes as (big, long, wide

halve sho,re, share equa”g

Instruchonal vocabulurg:
CGFFH on, conhnue, FZPCO’t, what comes nexl’? Predick describe H}e PaHern describe Hw rule

F‘md, Find o,u, [:ind cliﬂ;erent, inveshgate

Oﬂd SO on) repeated addihon OFFOH row, column double,

O[)J'echve and Concrele Piclorial Abstract
Skrategles
Know lables pacts por 2s, 10s and
5s and begin 3s and 4s. Use counters, pegs boards, maney to build arrays. Consolidate arrays and repeated addition. Partitioning strategy for doubling.
Recalling facts.

To be able to Parhhon a? digik
number. Eq. 12 x 5 is...

10x5

Add

2x5

Dou')les are HIC same as

muuiplging bg 2.

",’_‘522“ Sx4=20.
'N:—.?I I:.: l\(..:.’zl ‘.T:.-: :\:.-"
eeeede

R Ry TRy Ry
= e v v =

fay faay feEy feay ERy
't:'\:v' Q' '\/_-'-,:r' C—y =1

Double 35

5
30x2 Bx2

70

Know l’hdk 3 X 4— is H’lat same as 4— + 4— + 4—
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Year 3 - Mulhplicahon

LOHCFS OF VOCQbUlQFH

Basic to subJ’ecl’ specific (Beck's Tiers):

lots of. groups of X, limes, mulhplg, mulhpllcahon, mulhplied bH mulhple o, Product once, twice, three limes... len limes... limes as (big, long, wide... and so on) repeated addition array

‘-;fb:r : row, column double, halve share, share equallﬂ one each, tWO each, leee eo,ch...
S Instruchonal VOCGbulQI‘HZ
Beck‘S Tiers OF Vocabularg CQFFH on, conhnue, repeak Wth’ comes nexk? Predlck, describe H}e PGHCFI’I, describe H}e rule, [;'md, Find all, [;'md diFFerent, lnveshgake, CI’lOOSC, decide, CO“CC&

O[)J'echve and
Skrategles

Concrete

Pictorial

Abstract

Know limes lables for: 2.3 45,8
10.

Understand muuiPlHing bg 10.
Understand thal mu“iplﬂinﬂ a

numl)er I)H zero, HIC answer Wiu

GIWGHS I)e zero.

Show the link with arrays to introduce Parhhaning por

mulhplicahcn,

X 10 |

MOVC on kO using BQSC |O/dienes kO move fowo,rds a

more compact me H‘LOCl

Tens Ones

EEEmEEEEEn) ]

EEEEEEEEEE] a|

30x2=60
2x2=4

60 + & = 64
32x2 =6k

[P rows CF |O
[P rows OF 3

Chlldren can rePresent er WOFI( HICH hOVC done WiHI PlQCC VO[UC

counkers ina WQH H’Lak H’LCH underskand

ThEH can draw lthe counh’,rs, using colours o show diFFerent amounts

or J‘usk use circles in the diﬂ;erent columns to show their Ehinl(ing,

Mu[hPlH a?l digil number bg a one digit number (no

exchonge)
20x 3 =60
3x3=9
23 % 3=169

MuthlH ol digif number 53 a
one digil number (with

exchonge)

Mulhplicahon with
expanded melhod:
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Year & - Mulhplicahon

LOBCI‘S GF vocabularg

- L
Lbjrd ol
TR

[ERE

Beck's Tiers GF VOCQbUlGFH

Basic to subjecl specil;ic (Beck's Tiers):

lots Of. groups of fimes, mulhplg, mulhplico,hon, mulhplled bH mulhple oF. Produck once, hwice, three limes... len limes... limes as (big, long, wide... and so on) repeated addition array

row, column C.IOUHC, halve, FQC&OF, mulhple

Ins}ruchonal VOCGbUlQrH:

CQFFH on, conhnue, rePeaf what comes nexP Predick describe H\e PaHern, describe Hw rule

PaHern, PUZZIG, calculake, calculahon, menkal calculahon, meond, J‘ckhng, answer righk, COI’TQCL wrong, whak could we h"H HCXP hUW dld HOU WOF‘I( il' oul? number sentence, sign, OPGFGhOﬂ,

sHmboL equahcn

Ob\jechve and
Skro,tegies

Concreke

Piclorial

Abstract

To know all muuiPlical'wn Facls up

to 12 x 12.

To know how to muuiplﬂ bH 10 and
100.

To understand distribulive law.
Begin fo use short muuiPlical’ion

method (short is when there is o

single muuiplier)_

Fill each row with 126.

MOVC on fo Place value counfers k(l ShOW hOW we are Finding SFOUPS

OF a number. We are mulhplﬂing bH 4— SO we need 4— rows.

@

Calculations

! ax126

Add UP CGCh column, shrhng WiH’l Hw ones making O,I'IH

excho,nges needed.

® ) -

CHI00) 90000 ®  +x12

=

Children can represent er WOFI( Hmeg l‘lGVC done W1H'1 PIOCC VO[UC COUI’\I’CI‘S in

a WQH H’mk Hlelj undersko,nd.

TheH can draw H‘LC COUﬂk@FS, using colou,rs tO SI'IOW cliFFerenl' amounl’s or JUSI

use circles in H\e diﬂ;erenk columns kO Sl’lOW H’leil" Hunking

Skark wiH1 expanded shork mulhplicahon,
reminding er children abouf lining up H’leir

numbers clearlH in columns.

Once COnFlank, move kO compack nokohonz

229

|
e
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Year 5 — Mulhplicahon

Lagers of vocabularg Basic to subjecl specil;ic (Beck's Tiers):

.-""-“:'-.\ loks of. groups of fimes, mulhplg, mulhplicahon, mulhplied bH mulhple of, Producl’ once, lwice, three limes... ten kimes... limes as (big, long, wide... and so on) repeated addikion array
A row, column double, halve share, share equally

3

= ) Fackor, mulhple, Prime, composife

[T =8

Beck's TiCFS OF VOCGbUlGI‘IJ

Instruchonal VOCGbulOI’HZ
CQITH on, conhnue, repeat what comes nexf? Predict, clescribe Hw PQHCI"H, describe Hle rule

Find, F'md all, F'md diFFerenk 'mveshgate

ObJechve and Concrele Piclorial Abstract
Sh’akeg ies

Compack notahonz (bH | dlglt)
po ol mlbplcolien ke 8| ) ercanding the efpect of muliplyng by 10,100 and | Moving forward, malkply by o 2 dight number showing the dgrerent | g

|OOO Creake a ViSUGl PIOCC VO[UC chark and model rows wil’h'm H’Ie calculahon
numbers PhHSiCQ“H moving when mulhplﬂmg/dividmg IDB
To know how ko mulliply by 10,100 | mulklpes of 10

and 1000. USC a laminated PlClCC VQ[UC resource l'O (15515[' children in

mulhplging/divl&lng bg mu”ilpes oF |O

Long mulhplical’ion:

Begin lo use lang muuiplical'ion Multiplying and Dividing by 10, 100 and 1000 7 2 3 3 é
method (short is when there is o X [ @ q_
single muuipl'ver). 10 000/ 1000 100 10 1 L L _1._
10 | 100 | 1000 I
Move to worlting with decimals. + i 2 g 0 \ . &
muuiplg numbers with up to two . 3 o
decimal places by whole numbers Multiplying Dividing
igits move LEFT 1 space + igits move RIGHT 1 space .

(Heor 6) § :go 3igi:s move tEFI’ ; sgaces + :30 gigi:s mzve R:G:T ; siaces COI’ﬂPOCl’ WLH.‘

X 1000 digits move LEFT 3 spaces +1000 digits move RIGHT 3 spaces

e ; decimals:
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YCO,F 6

LGHCFS OF vocabularg

-

B

B

Becl('s Tiers OF VOCG[)U[O,FH

Basic lo sub‘jeck sPeciFic (Beck's Tiers):

lots of. groups of limes, mulhplﬂ, mulhplicahon, mulhplied bg mulhple o, Product once, hwice, three limes... len limes... limes as (big, long, wide... and so on) repeofed addilion array row,
column double, halve share, share equallg

Factor, mulhple, prime, composlke

Instruclional vocabularg:
co,rrH on, conl’inue, repeal’ whal’ comes nexP Predlck describe Hw, PaHern, descrlbe Hw, rule

Find, Finci au, Flnd dlﬂ;erenk lnveshgake
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Year | - Division

LoHers of vocabularg Basic to subjecl specil;ic (Beck's Tiers):
counk in ones, l'WOS... kens...
.‘ share, gl"OUPS OF, equal 9I"OUPS
' L ‘ odd, even
BeCk ¢ Tiers OF VocqbulorH Instruchonal VOCQbUlOI‘Hf
count out, share oul, lel;t, lel;l’ over
Objechve ond Sfrategies Concrele Piclorial Abstract
To understand that division is Children use picfures or shapes bo share c[uanhhes. Share 9 buns belween three
sharing inko equl groups. T have 10 cubes, can peaple. Children could draw dots

you share them bo suppork them.
ec[uaug in 2 groups.P

"Hal[: of 8is &

Children represenf obJ'ecl’s bﬂ drowing circles and dots.
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Year 2 — Division

LOHCI‘S GF vocabularg

Basic to subjecl specil;ic (Beck's Tiers):

sho,re, share equallg one eo,ch, bwo each, three each... group in Pairs, threes... lens equal groups of - divide, divided bu:j, divided inlo leFk, leFf over

5.;‘-:;\.-4. Instructional vocabulurg:
éeck's Tire o Vocabularg. tell me, describe, name, Pick oul, discuss, talk aboul, expla‘m, explain your method, explain how you gok your answer, give an exo,mple Of-.- show how you

ObJechve ond
Sh’akeg ies

Concrefe

Pictorial

Abstrack

Division as grouPing and shurinﬂ_

To know that division non
commulative (l'heﬂ should know lo

Pul the biggesk number Firsf)_

Know that halving is the same as

divide bg 2.

Concept of the 'le[;iover' leading lo
undershmding of the remainder.

The remainder ko be dealt with
depend fext (.c. wha

could you do with the remainder?

ing on the

Cake you could splil_ A Pencil you
couldn’).

Divide quanhhes inko eclu,o,l groups.
Use cubes, counl’ers, obJ'ecl's or p[o,ce value

counkers to o,id understanding.

Use a number line ko show J'umps in groups. The number of J’umps

ecluo,ls H’le number OF 9FOUPS.

12

Think of the bar as a whale. Splik it into the number Of groups you
are d'widing bU and work oul how many would be within each group.

20

20+-95="7
D % 2=20

20+5=4

D'wide 25 'mto 5 groups. How

monH are in COCI’) 9FOUP?




St Bartholomew’s MAT Calculation Policy et

Thers are 7 cakss and 2 children. How

] - Find the inverse op mulliplication
b ot 15 GVGEdDY || o sefences by creing
000000 ® 15 civicea by || 2 kg renber sanances
5¢7=35
35+7=5
35457

40 +2=20
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Year 3 — Division

LOHCI‘S GF vocabularg

Tl
sepraEn
s

[,

Beck‘s Tiers OF VOCQbulQFH

Basic to subjecl specil;ic (Beck's Tiers):

share, share equallﬂ one each, tWO CQCh, H\ree each...

group in Po,irs, threes... lens equ,al groups of - d‘wide, d‘wislon, divided bg, divided inko leFt, leFt over, remalnder, dlvidend, divisor

Instruchonal vocabulurg:

calculate, work ouk, solve, inveshgate, queshon, answer, check

Objechve and
Shfo,keg ies

Concrete

Pickorial

Abstrack

To understand division as sl’mring

and grouping.

To know when a remainder will
occur, and how lo wrile it using r

nokakion.

To know how o rearrange the
dividend in the ""r'u of the

divisor.

96 + 3 =32

Use place value counters to
build the dividend (in this
example this is 96).

Iump Forward in equal J’umps on a number line Hmen see how many

more you need ko J’ump fo Find a remainder.

12 13

Use partitioning/re-arranging to find
multiples of the divisor.

48+3=

‘What do | know about 3 x tables?

“I know 3 x 10 = 30."

30 18
v v
10 6
48+3 =16

10x3=30 6x3=18

Complete wrillen divisions and

show Hme remainder us'mg r.

29 + 8 = 3 REMAINDER 5
T

dividend divisor quotient remainder
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Year 4 - Division

LQHCI"S OF VOCGbUlQFH

-

e
-

Tan
(PR

BCCI(.S Tiers GF VCCQbUlOI"H

Basic lo subjecl specil;ic (Beck's Tiers):

share, share equauﬂ one each, tWO CQCh, leee each...

group in Pairs, threes... lens equal groups of - d‘wide, d‘wislon, divided bg, divided inko leFt, leFt over, remo,lnder, dividend, divisor

Insfruchonal VOCOIJU[QFHI

calculate, work ouf, solve, inveshgate queshon, answer, check

Ob\jechve and
Sh’akegies

Concreke

Pictorial Abstract

To be able to use short
division (this is with o single
digit divisor).

Conlinue ko use the
reurmnging the dividend
method.

Use P[OC@ va[ue counkers l’O cl'wide us'mg Hw bus

sfop method a[ongside
OO 0@ Calulations

42 +3

42 + 3=
Start with the biggesk Place va[ue, we are sharing
40 inko three groups. We can Put | ten in each

9I"0UP and we |’10V€ | ten [6[2[’ over.

0

©00

We 6XC|’10I’196 H’mis fen FOI" fen ones and, Hlen share

H’IC ones equa“g among Hw SFOUPSA

Beg'm with divisions that divide
equa”g with no carrgmg‘

Continue to develop partitioning/re-arranging to

find multiples of the divisor.

96 +6 2

“What do | know? & x 10 = 60" 2 4 8 2
&0 36

b
10 &

Then move ko divisions wiH‘u
carrging which do not resu” ina

96+6=16

remainder.
P
ME

Encourage Hmem [o move towards counhng in mulhples fo divicle more

eﬂ;icienﬂg.
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10

(ITT M

We look how much in | group so the answer is |4.

Move onlo divisions with o

remainder.
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Year 5 - D'wision

LQHCI"S OF VOCGbUlQFH

-

i
T

BCCI(‘S Tiers OF VGCQBUlOI‘H

Basic to subjecl specil;ic (Beck's Tiers):

equal groups of. divide, division, divided bH' divided into remainder, Fackor, quohenk divisible bH, inverse

Ins}ruchonal VOCObUlOI’HZ

calculake, work out, solve, 'mveshgate clueshon, answer, check

same, dlﬂ;erenk missing number/s number Facks, number pairs, number bonds, greakesk value, least value

Ob\jechve and
Sh‘akegies

COHCFC%C

Piclorial

Abstract

To be able to use short
division (this is with o single
digii divisor), with up to 4 digit
dividends.

To applg my knowledge of the
lests of divisibilitg.

To divide by 10, 100 and 1000
mentally.

Conlinue to use the
reorranging the dividend
method.

Understanding the efgec of dividing by 10, 100 and 1000,

Go back o,ncl use Plo,ce vo,lue coun[’ers i|: chi[dren

do no|,' understand (see Hear 3 division).

Ba7 =7
“What do | know? | know 7x12 = 84
so 7 ¥120 = 340"

847
840

120 1

g47T=T=121

Encourage Hwem to move towards cou,n|,’in9 in mu[hples to cl‘wicle more

eFFiciean.

To compleke d'wisions wiHl a

remo,inder.

021k
5 [i-Fo i3
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Year 6 - Division

LQHCI"S OF VOCObUlOJ‘H

-
F X
R

BCCI(‘S Tiers OF VOCGIJU[OI"H

Basic lo subjecl specil;ic (Beck's Tiers):

equal groups of. divide, division, divided bH' divided into remainder, Fador, quohenk divisible bH, inverse, remainders as Frachons or decimals

Instruchonal VOCG[)UIQI‘HZ

CQ[CU[O&C, WOFI( ouk, SO[VC, lnveshgake queshon, answer, CI’IQCI(, same, leFerenf misslng number/s number FQC[’S, number Pairs, number boncls greofest VOIUC, leask vo,lue

ObJeckive and
Sh‘akegies

Concreke

Piclorial

Abstract

To be able to use short (bhis is
with o single digil divisor), and
long division (2 disil divisor)
with up lo & diﬂil dividends

and decimals.

To “PPlﬂ my knowledge of the
tests of divisibililﬂ.

To divide by 10, 100 and 1000
menhug

Conlinue to use the
rearrawgiwg the dividend
method.

7+5=3 2/5

Use the number line to explore remainders and

expressing the quotient as a fraction or decimal.

58l + 7=

560 + 21 = 58
oo

80 + 3 =83

Encouro,ge Hlem fo move fowards counhng in mu[hples to

divide more eFFicienHB.

Shorl’ clivision where Hle remo,'mder isa

olel2s
4!2?5*'010

decimal

Short division where the remainder is o

Frocl’ion
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Long division

Fackor Po,ir division

1218 =21 =5

53 v/m
I the [ w50
‘:7@_: A Lbj /\!]c\f( v.u- 500

3Lzl »

05
714%0%

! l)/u“ne number
o040 t

St g




